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Graph:
1. x-8 < —11
Attt
[1] -2 9 -6 3 0 3 6 9 12
2. X+2 <38
Attt
2] -2 9 -6 3 0 3 6 9 12
3. Solve and graph the solution: x+9 > 14
12:::9:::6:::3::(:)::3::::6::é::1:2>
[3]
4. Solve and graph the solution: x+4 < 11
4P
-2 -9 -6 3 0 3 6 9 12
[4]
Graph:
5. x+3 < 6and —10x<30
4t ——P
5 10

[5] -10 -5 0

NAME:

X+5<7and —6x<24

4+ >
-10 -5 0 5 10

X+5 < 6and —6x<24

44—
-10 -5 0 5 10

X+3 <4and —5x< 10

44—t p
-10 -5 0 5 10

10.

[10]

Solve: 3x > 27
[A] X =29 [B] x<9
[C] x > 24 [D] none of these

[9]

Use a calculator to solve and check the
inequality.
—-16(x + 2) < 98
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D e e T
[1] -12 9 -6 -3 0 3 6 9 12
—— >
2] -12 9 -6 -3 0 3 6 9 12
4+ )
3] -12 -9 -6 -3 0 3 6 9 12
——————
(4] -12 -9 -6 3 0 3 6 9 12
<4— e ——— —>
[5] -10 -5 0 5 10
¢ ——— . »
[6] -10 -5 0 5 10
D B E——--- e
[7] -10 -5 0 5 10
4+ — . »
[8] -10 -5 0 5 10
9] A

[10] X > —8125




